S WS- qRawT ) e g T @ Siq ab el A g

9 qRa® 4 32 g @)

®1¢ / Code

A

wsi-qRa®1 §&a1/ Question Booklet No.:

qHHid (=T W) /Roll No. (in words)

This Booklet contains 32 pages

CET-2023
FOR CLASS VI FOR ACADEMIC SESSION 2023-24

ag@ai® (3Ht ¥)/Roll No. (in digits)

64921

FuiRa w9y - 230 w2
Time Allowed : 2.30 Hours

arfereas & : 200
Maximum Marks 200

T @ SR 2% B iy dad el dia—wrge ¥ BT g B | WP FT FEEd T B |
Use Black Ball-Point Pen only for marking the responses. Do not use pencil.
areff STR—UF® Ur Sav 39 ¥ ugd Wl sl & wrauT @@ 9 o |
Candidate must read all the instructions carefully before marking the responses.
TS YT B TR DA FOR-—YAS W & 31 2|
You have to mark your answers on OMR Answer-Sheet only.

e @ IR IALTLAR. SOR-9AF IS Bl dlel ? |
After the examination is over, hand-over the OMR Answer-Sheet to the invigilator.

WEdYUl IR

1. T Y qgdBiedd & vd T ol & SR &

2.§W—Wﬁﬁaﬁzoom%ﬂﬁﬁﬁﬁmﬁﬁgﬁm
HAT &

YAT—1 : 3 (50 9%)

YT—2 : A S (50 9%)

HIT—3 : TIfOT / gfgHaT geT (75+25 )

. ITHAN. TT— fav o e o apeff s
im_ %%%—?ﬁﬂﬂ e, T e B,
9 BIE qAT PEN Afhd BN AT STR-JAD_ P
gmﬂﬁﬁmmaﬁwmmﬁmﬁmmeﬂaﬁ
|

4. VEIF T @ IR ddbfeud Sav v mu | el Wl
IR fAafée v gy, v for A famn @ € 9T

@9 U Tl ATl qde] Pl ITR—9AP TN wge
q R HTAT B S| U W AP I faded oF @ G H
99 & SR B el AT SO U S99 SrEr el S |

e @O OO
5. % B 39 yE-—gRaer § FuilRa @ w® & #)

. ITR-UFD TR H geR & G g SEeR 41 @S
L Ll B

] e derdeet sk e &1 wEm FA B

%qﬁaﬂm&wa%mmm;?rm—gﬁﬁﬂémﬂﬁ
[

9. BI§ THRIHAS TeIiH= T8l 21T |

a3

Important Instructions

1. All the questions are multiple-choice type and answer all

the questions.
2. This Question Booklet contains 200 questions in all
comprising the following three parts:
Part-1 : English (50 Ques.)
Part-2 : General Knowledge (50 Ques.)
Part-3 : Mathematics/Intelligence Test (75+25 Ques.)

3. Candidate should indicate his Name, correct Roll Number,
Question Booklet No., Exam Centre Code. Question Booklet
Code and Class on the OMR Answer-Sheet, otherwise the
Answer-Sheet will not be evaluated and the candidate will be
solely responsible for it.

4. Each question has four alternative answers. The candidate

has to darken only one circle/bubble on the Answer-Sheet

using blackball-point pen indicating the correct answer as

shown. If more than one answer' option is found darkened,

then the question will be treated wrong and will not be
evaluated.

Example: @ O O O

5. Rough Work is to be done in the space provided in the
question Booklet only.

6. Use of white fluid or blade for correction on the Answer-
Sheet is not permissible.

7. Use of Electronic Calculator and Mobile, etc.. is not
permissible.

8. After completion of examination, you are allowed to take
away your Question Booklet.

9. There is no negative marking.

DO NOT OPEN THE SEAL OF THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO
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ENGLISH

Q1. Feminine of Duke -
(A) Queen
(B) Mistress
(C) Duchess

(D) Nune of the above

Q2. Masculine of Poetess —
(A) Temptress
(B) Poet
(C) Writer
(D) None of the above

Directions for Q3 to Q5 : Select the Meaning of
the given Word/Phrase.

Q3. Dwarf -
(A) Sad
(B) Brave person
(C) Well-built person
(D) Short in Height

Q4. Insomnia -
(A) Lazy
(B) Suffering from headache
(C) Sleeplessness
(D) Inconsistent

Q5. “To be on cloud nine” —
(A) To fly in the air
(B) Extremely happy
(C) In a state of being uneasy
(D) None of these

Directions for Q6 to Q10 : Read the passage
carefully and answer the following questions.
The Giraffe is the tallest of all living land
animals. A male can go up to 18 feet and a female
up to 15 feet. Such height enables them to
escape the competition for ground level grass
that exists among other leaf-eaters. It also gives
him a long range of vision. He takes the warning
of the approaching enemy early. Giraffes eat a
variety of leaves, but acacia leaves are their
favourite diet. In spring, when many trees are not
having leaf, they spend 80 percent of the day

(3)

eating. In summer, when trees are in full leaf,
they need only 15 percent. The rest of the time is
spent in resting and quarrelling. A Giraffe s long
neck is made up like that of man and most other
mammals, of only seven vertebrae. The bones are
attached to one another with ball and socket
joints. These make the neck flexible. It can run at
50 km per hour. Rising from a lying position is a
problem for such a large animal. So, it usually
keeps standing even while it sleeps. To reach
water with such a long neck and legs, a giraffe
spreads its front legs wide apart. Then it lowers
its neck to drink. This awkward position makes it
easy for the lion to attack it.

Q6. A male giraffe is taller than female one by up
to.

(A) 4 feet

(B) 5 feet

(C) 2 feet

(D) 3 feet

Q7. Giraffes eat all variety of leaves but -—-------
leaves are their favourite diet.

(A) Banyan leaves

(B) Mango leaves

(C) Banana leaves

(D) None of these

Q8. Giraffes spend 80 percent of the day eating
during -------- season.

(A) Rainy season

(B) Summer season

(C) Winter season

(D) Spring season

Q9. If a lion has to catch a giraffe, then it has to
run

(A) More than 70 km/hr

(B) More than 50 km/ hr

(C) More than 60 km/ hr

(D) All of these

SET-A/CLASS-VI/2023-24
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Directions for Q16 to Q20 Select the Synonym

Q10. The meaning of the word “AWKWARD"
(A) Natural of the given Word.
(B) Delicate
(C) Not normal Q16. Forty winks —
(D) None of these (A) A person beyond 40 years of age
(B) A studious person
Directions for Q11 to Q15 : Select the Opposite (C) Problems of life

of the given Word. (D) A short nap

Q11. Conflict -
(A) Peaceful Q17. Remedial -
(B) Striking (A) Punitive
(C) Deadly (B) Stringent
(D) Harmonious (C) Corrective
(D) Strict
Q12. Extravagant —
(A) Sensible Q18. Exaggerate —
(B) Careful (A) Bluff
(C) Economical (B) Overstate
(D) Balanced (C) Explain
(D) Underestimate
Q13. Diligent — -
(A) Unskilled Q19. Penalize -
(B) Lazy (A) Persecute
(C) Careless (B) Punish
(D) Idle (C) Torture
; (D) Ruin
Q14. Laudable -
(A) Impolite Q20. Absurd —
(B) Condemnable (:) z:enseless
(C) Unpleasant (c) ¢ :an ;
(D) Repulsive (€) "“F.’
(D) Candid

Q15. Gen =
oo Directions for Q21 to Q24 : Find the Correct

(A) Stingy :
(B) uncharitable Spelling.

(C) Selfish pie

(D) | .

ks (A) Albert Einstein

(B) Albert Einstine
(C) Albert Einstin
(D) Albert Enstin

(4) SET-A/CLASS-VI/2023-24
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A} Abubdont
(8) Abandent
(L Abundent

WL Abundant

Q23
(A) Stubern
(B) Stubbarn
(C) Stubborn
(D) Stubbern

Q24.
(A) Bureau
(B) Buroue
(C) Bureu
(D) Buroeu

Directions for Q25 to Q33 : Select the One Word
Substitute.

Q25. One who is very meticulous in his approach:
(A) Reasonable
(B) Simple
(C) Fair
(D) Careful

Q26. Spoken or done without preparation:
(A) Extempore
(B) Carelessly
(C) With less preparation
(D) None of these

Q27. Certain to happen :
(A) Luck
(B) Inevitable
(C) Incredible
(D) None of these

28, Safe to drink .
(A) Potable
(B) Portable
(C) Presentable
(D) None of these

(5)

029. A form of Government in which power is
held by the nobility,

(A) Anarchy

(B) Autocracy

(C) Autonomy

(D) Aristocracy

Q30. Life history written by someone else.
(A) Biography
(B) Autobiography
(C) Memoirs
(D) Article

Q31. A hard nut to crack.
(A) A person who is very difficult to deal with
(B) Lovable person
(C) To deal in an uneasy manner
(D) None of these

Q32. Kill two birds with one stone.
(A) Killing birds with stone
(B) To succeed in achieving two things in a
single action
(C) To be more violent
(D) All of these

Q33. Sentence whose meaning is unclear.
(A) Alarming
(B) Ambiguous
(C) Unclear
(D) None of these

Directions for Q34 to Q50 : Fill in the blanks.
Q34. | saw it with my ------ eyes.

(A) Mine

(B) Personal

(C) Our

(D) Own

Q35. A small leak may -------- a great ship.
(A) Sink
(B) Drown
(C) Float
(D) Deviate

SET-A/CLASS-VI/2023-24
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Q36. What a of work is man|
(A) Great
(8) Sensible
(C) Piece

I.DF |1\\,‘

Q37.He is - than | expected.
(A) Later
(B) Latter
(C) Latest
(D) None of these

Q38. The Mouse is jumping ----------- the table.
(A) On
(B) Upon
(C) At
(D) None of these

Q39. The river flows ------- the bridge.
(A) Under
(B) Within
(C) at
(D) None of these

Q40. She is -==--===--- than her sister.
(A)Polite
(B) Politest
(C) Politer
(D) None of these

Q41. | ------- everyday at 5 O’Clock.
(A) Got up
(B) Getting up
(C) Get up
(D) Gets up

Q42. Here -------- the bus!
(A) Come
(B) Has come
(C) Is coming
(D) Comes

Q43. | -==m=- him for a long time.

(A) Know

(B) Knew

(C) Have known
(D) None of these

(6)

QA44. | === my exercise when Ram came to see

(A) Did

(B) Have done

(C) Have been doing
(D) Had done

Q45. Sonal’s score is the --=-==- in the school.

(A) High

(B) Higher

(C) Highest

(D) None of these

Q46. | wish | -===--- her before we met.
(A) Know
(B) Have known
(C) Known
(D) Knew

Q47. My father always doubts my actions; he is --

---- in nature.
(A) Strict
(B) Disciplined
(C) Sceptic
(D) Credible

Q48. The sari ---------- me five thousand rupees.
(A) Price
(B) Cost
(C) Ranges
(D) None of these

Q49. He never visits any religious place and he
doesn’t believe in worshipping God. He will be
called------------ g

(A) Atheist

(B) God fearing

(C) Theist

(D) None of these

Q50. He always fights with everyone. He is ----- in
nature.

(A) Lovable

(B) Cordial

(C) Cantankerous

(D) None of these

SET-A/CLASS-VI/2023-24
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GENFRAI KNOWIFDGF

51. ‘National Dolphin Day’ is celebrated on ~
(A) 01 Oct
(B) 03 Oct
(C) 04 Oct
(D) 05 Oct

v
ra

- Who is the Cabinet Minister for Commerce &
Industry?

(A) Pralhad Joshi
(B) Piyush Goyal
(C) Arjun Munda
(D) Narayan Tatu Rane

3. Who is the Governor of Gujarat?
(A) Acharya Devvrat
(B) Bandaru Dattatreya
(C) B D Mishra
(D) AM Khan

54. Who is the Governor of Uttar Pradesh?
(A) Ganeshi Lal
(B) Anandiben Patel
(C) P N Ravi
(D) Gurmit Singh

55. What is the popular name of Bal Gangadhar
Tilak?
(A) Mahamanya
(B) Desh Bandhu
(C) Lokmanya
(D) Guruji

56. Aurobindo Ghosh published which
newspaper/journal?
(A) Kesari
(B) Bengal Gazette
(C) Vande Matram
(D) Yugantar

57. Birju Maharaj is associated with which dance
form?
(A) Bharatnatayam
(B) Kuchipudi
(C) Kathakali

thak
(D) Katha )

51

52.

53.

54.

35.

56.

57.

"wrefa e famme #a garm s e
(A) 01 3rgar
(B) 03 31za
(C) 04 31z
(D) 05 s

arfirsg 3fit Fei % Ffarrz vt A # 2
(A) T@1a et
(B) g e

(C) A

(D) AT 32 T

T % TSI i & 2
(A) = S

(B) S&TE gAY

(C) =t &t o
(D)TTHEH

I YR o TSI FH 8 2
(A) Torsft ST

(B) AT 9o

(©) frea

(D) Tutte fiie

T TR foveTeh 1 A1 AW R 2
(A) HEHT=T

(B) & &y

(C) AT

(D) Tresit

arTfrE O 3 S 1 GETET g/ e R 7
(A) Fadt

(B) STt TT9A

(C) &2 wraw

(D) Fmmiat

faree weww fra @ Af A 92 2 2
(A) SEHTERH

(B) FFgst
(C) Twgaetl

(D) FeaH
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58 Where is Sclence City located?
(A) New Delhi
(B) Pune
(C) Kolkata

(D) Chennal

59. Which planet is known as ‘Red Planet’?
(A) Venus
(B) Mars
(C) Mercury
(D) Neptune

60. Who is the leading producer of Gold?
(A) China
(B) Australia
(C) South Africa
(D) Russia

61. Chaudhary Charan Singh Airport is in ?
(A) Kanpur
(B) Agra
(C) Prayagraj
(D) Lucknow

62. Gir Forest is located in -
(A) Rajasthan
(B) Madhya Pradesh
(C) Gujarat
(D) Karnataka

63. Capital of Bhutan is ?
(A) Tirana
(B) Thimpu
(C) Dhaka
(D) Bogota

64. Which is the largest Railway Platform?
(A) Gorakhpur
(B) Mumbai
(C) New Delhi
(D) Kanpur

(8)

5K

59.

60.

6l.

62.

63.

urgn fudy wrl fean # 7

(A) 74 feeeht

(B) 0

(C) Tl

(D) A=T%

Pt 77 ) TR T F ATA A ST A2 2
(A) TF

(B) 5T

(C) 79

(D) %01

A 7 Sl IeqTEE A AT A2 ?
(A)FH

(B) Fireferan

(C) Zfeqor SA5hIFT

(D) &4

ierdt =rvor fifg gaTd arget Fal R & 2
(A) AT

(B) ST

(C) FATTTS

(D) TETH

TR = el fega & -
(A) TSI
(B) He7 WawT

(C) T
(D) FATeH

2T 1 TS 18 2
(A) fern

(B) Fig.

(C) @l

(D) @nTrer

. T T S EEH S AR 0

(A) TEER

(B) Ha$
(C) 73 foeett

(D) FFIT
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65. Navy Day is celebrated on ?
(A) 15 Jan
(B) 08 Oct
(C) 04 Dec

(D) 15 Dec

66. Teachers Day is celebrated on?
(A) 0S Aug

(B) 0S Nov
(C) 05 Oct
(D) 05 Sept

67. International Yoga Day
(A) 21 May
(B) 21 June
(C) 21 July
(D) 21 Aug

is celebrated on?

68. Which of the following bowler has conceded

most runs in an over in Test Cricket history?
(A) Stuart Broad

(B) Robin Peterson
(C) James Anderson
(D) Joe Root

69. Who among the following won the
Wimbledon 2022’s Mens Single title?
(A) Novak Djokovic
(B) Nicholas Kyrgios
(C) Rafael Nadal
(D) Daniil Medvedev

70. 44™ Chess Olympiad held at —
(A) Moscow
(B) London
(C) Mamallapuram
(D) Rome

(9)

65

66,

67.

Arer e aa e s 2 2
(A) 15 satt
(B) 08 S7Za
(C) 04 fegam
(D) 15 fegan

fveres e Fa s 2 0
(A) 05 31T
(B) 05 9947

(C) 05 7zan
(D) 05 foeam

S = ferer o A ST 2 0
(A) 21§
(B) 21 5

(€) 21 o

(D) 21 31

68. ﬁw%%ﬁﬁ%%aﬁzm%wiﬁmsﬁzmﬁﬁ

69.

70.

e & Haifess @ o ¥ 0
(A) 3t site

(B) Tifem dreem

(C) 31w Uete
(D) &w

ﬁ%ﬁaﬁﬁ%&ﬁﬁmnnmm
faam sfar 2 2

(A) T SR

(B) Frarer ferfifare

(C) THa Ter

(D) Sfraet tedeg

443t YT anverfuraTs Faf srEifer fo w0
(A) TR
(B) &

(C) T-TTHHT&'W
(D) 1w
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71 Distance of Marathon race Is -
(A) 43.195 km
(B) 42.195 km
(C) 41,185 km
(D) 40.165 km

72. Which of the following is not related to field
Hockey?
(A) Bully
(B) Penalty corner
(C) Free hit
(D) Off side

73. Where is the Headquarters of International
Olympic committee ?
(A) Beijing
(B) London
(C) Switzerland
(D) Germany

74. The Indian Parliament consists of —
(A) President
(B) Rajya Sabha & Lok Sabha
(C) President, Rajya Sabha & Lok Sabha
(D) None of the above

75. State Chief Election Commissioner is
appointed by —

(A) Governor
(B) The President of India

(C) Chief Justice of High Court
(D) Home Minister

76. Tree releases oxygen and absorbs -
(A) Nitrogen
(B) Carbon dioxide
(C) Sulphur dioxide
(D) Nitrogen dioxide

77. UNICEF headquarter is situated at —
(A) Geneva
(B) New York
(C) Paris
(D) Rome

(10)

71,

72.

73.

74.

75.

76.

77.

trover Arg A1 502
(A) 43.195 Tt
(B) 42.195 faet
(C) 41.185 feprdi
(D) 40.165 feret

o & 1 a 77eR A & wfife e 22

(A) Tt
(B) e T

() s fez
(D) 3T 158

s sieifors afuf b1 e e € 2
(A) s

(B) e

(c) Ragsets

(D) swHt

T Tae § e § -

(A) Tsgafa

(B) T=I@WT 37T SAlHaT

(C) Tregufer, T=or@T 3T e
(D) 394 H & Ig TE

TS % T ST 3T o6 e foerss g o stveft
®2?

(A) TS

(B) Wt & Teguf

(C) I=9 AT & &I =raTdi

(D) T& it

&y SIS BTEa & I T S T & 2
(A) ATEZISH

(B) e STgSHTTES

(C) TH SEHTHAIES

(D) AT STEHTFATEE

Tf s =1 qEaTer FEl fRud 2 2
(A) Foran

(B) =T

(C) ufe|

(D) T
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'8. Scurvy disease (s caused by ?
(a) Vitamin A
(b) Vitamin B12
() Vitamin D
(d) Vitamin C

79. Which is the hardest natural substance on
earth?
(A) Diamond
(B) Lead
(C) Gold
(D) Silver

80. Who founded Maurya Empire?
(A) Chanakya
(B) Samudragupta
(C) Skandagupta
(D) Chandragupta

81. Hornbill Festival is celebrated in —
(A) Manipur
(B) Assam
(C) Nagaland
(D) Sikkim

82. Which team won IPL season 2022?
(A) Gujarat Titans
(B) Rajasthan Royals
(C) Mumbai Indians
(D) Delhi Capitals

83. Which one of the following Dams is not in
Uttar Pradesh?
(A) Ahraura
(B) Adwa
(C) Baghel Khand
(D) Badua

84. Largest planet in size is -
(A) Earth
(B) Venus
(C) Mars
(D) Mercury

(11)

18

79.

80.

81.

82

83.

84.

wwef i fpes amon gy o
(A) lanfie o

(B) farerfim aft 12

(C) faarfirr &

(D) faerfie

el T g FER TrHfe vard # a0
(A) &
(B) &g
(C) @
(D) =t

Wi e o e R o
(A) SToTeRy

(B) STz

(C) whew

(D) <T=H

BT Weteoa Fal w s e 0
(A) mforge

(B) 31dq

(C) ATTTete

(D) fafemrm

. T A 3 amrddiee dism 2022 sfam

(A) TSITrG 2152~
(B) TSI Ty

(C) 4= 3fewrm
(D) feeeft &t Tt

Forforfaa 3 & w-an sifw sacRw § A 20
(A) 3T

(B) aFear

(C) T @

(D) srgem

HFEAH G TSI TR FA AR ?
(A) gt

(B) T
(C) 51Tt

(D)4
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85 C K Naldu Trophy is assoclated with which
game !
(A} Cricket
(8) Football
(C) Hockey
(D) Basketball

86 Who is known as “Flying Sikh” ?
(A) Milkha Singh
(B) Harbhajan Singh
(C) Kulvinder Singh
(D) Balwinder Singh

87. National Sports of India —
(A) Cricket
(B) Hockey
(C) Football
(D) Basketball

88. Who is the author of “Wings of Fire”?
(A) Dr A P J Abdul Kalam
(B) Amartya Sen
(C) Abul Kalam Azad
(D) Amish Tripathi

89. “Eiffel Tower” is located in —
(A) Paris
(B) New York
(C) Tokyo
(D) Moscow

90. Which is the largest country (Area wise) ?
(A) Canada
(B) China
(C) USA
(D) Russia

91. Longest river of the world is -
(A) Ganga
(B) Rhine
(C) Nile
(D) Brahmaputra

92. Duckworth—Lewis-Stern method is related to
which sport?
(A) Hockey
(B) Football
(C) Tennis
(D) Cricket

(12)

mgm_;ﬂ'ﬁfﬂ@aﬁm%?

(A) frz

(B) Gt
(C) Tt
([):ﬂ'lﬁr?ﬁﬁ?f

85

46, umwﬁmﬁﬁfémmg?

87, T %1 THE G -

88. “RiTer ITE BIEC FIAGH FAE ?
(A) ST Tt S Heged FHAH
(B) 3w &
(C) e FA™ AT
(D) rfrer Frardh
89. “ufthet 2T FEl 8 2
(A) ¥

(B) 7
(C) Tt
(D) ATE=R

90. TG T AT (AAE & ATAR) P2 ?

(A) FATET
(B) =7

(C) qusY

(D) &8
91. A e et vt & -
(A) T

(B) TsH
(C) e

(D) T

92. Twad-wga-reA R fraaa ddafa 2 2
(A) BTl

(B) et
(C)

(D) fordpe
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93 Which country won the Asia Cup 2022 ?
(A) India
(B) Pakistan
(C) Srilanka
(D) Bangladesh

94. Which planet has the fastest revolution
around the Sun ?
(A) Uranus
(8) Mercury
(C) Neptune
(D) Jupiter

95. Who is the founder of Facebook ?
(A) Evan Williams
(B) Mark Zuckerberg
(C) Evan Sharp
(D) Paul Allen

96. How many spokes are there on the wheel of
Indian National Flag ?
(A) 25
(B) 24
(C) 26
(D) 27

97. How many times India hosted Olympics ?
(A) 1
(B) 2
€)3
(D) Never

98. Animal who can live longest without water?
(A) Camel
(B) Kangaroo rat
(C) Deer
(D) Bee

99. State which has largest flood prone area ?
(A) Assam :
(B) Uttar Pradesh
(C) Bihar
(D) West Bengal

100.  The normal temperature of human body

93,

94.

95.

97.

98.

) o " G1Y N .' BT
100.  WTa IR %1 T A9 BT R —

forer 2 3 vy w5 2022 sy 2
(A) T

(B) urfarear

(C) e

(D) airerTEay

%«mﬁq&%aﬁmmﬂﬂamma?
(A) Jrra

(B) 0

(C) FT=g

(D) Fewfa

T & U A E 0
(A) 39 faferamg

(B) W et
(Okcichiii

(D) 9Te T

. Tl T e 3 wisp o foberet eftforat gt 2

(A) 25
(B) 24
(C) 26
(D) 27

9T 3 fehereft e siveifires it £ 0
(A) 1 -

(B) 2

(©)3

(D) Fft 7

it & form wray a1frs wer e shfera T arer softo
(A)Fe

(B) T <1

(C) femr

(D) megel

. gatfue a1 9av &3 arer 75 2

(A) 3@
(B) I
(C) fareme

(¥ Scanned with OKEN Scanner



MATHEMATICS

101. 21 hundreds, 35 tens and 4 ones are equal
to -

(A) 2139

(B) 2454

(C) 21354

(D) 21394

102. In which of the following numbers does the
digit 1 have a place value of 10 ?

(A) Three thousand and one.

(B) One thousand two hundred and five.

(C) Five thousand and nineteen.

(D) Seven thousand one hundred and two.

103. Which of these numbers is half way between
334 and 364 ?

(A) 344

(B) 354

(C) 350

(D) 349

104. Anu says my birthday was 30 days ago but |
was away on vacation then. So I’'m throwing a
birthday party the day after tomorrow. If Anu’s
birthday party is on Saturday, her birthday was
on— -

(A) Tuesday

(B) Wednesday

(C) Thgssday

(D) Friday

105. Which of the following could be written as
six and a half thousand ?

(A) 6050

(B) 6550

(C) 6500

(D) 6000

106. The smallest common multiple of 10 and 5
is—

(A) 1

(B) 5

(C) 10

(D) 2

(01, 21 G, Jsmmasmﬁmiﬁmﬁq

(A) 2139
(B) 2454
(C) 21354
(D) 21394

102.ﬁﬂmﬂﬁﬂﬁﬂ?#@ﬂﬁ3ﬁ | & THE A 10
2?7

(A) @ IR TH

(B) T g a1 ©l I

(C) Ui &SR 319

(D) |TA &R T &I 3l

103, 37 & 7w dET 334 3364 F AT AR ?
(A) 344
(B) 354
(C) 350
(D) 349

104, 31 el & o6 AU ST 30 & et o Ak & 7
T oft o # wewi wfe oy ordf 2 @ €1 3 o
61 rafee ot a1t w1 , ) e e 5
o .

(A) W

(B) IR

(C) Tear

(D) IHaR

105. Frforfaa & & fordt o8 it s woim foram s
YHare ?

(A) 6050

(B) 6550

(C) 6500

(D) 6000

106. 10 3R 5 1 T e A o & -
(A)1
(B) 5
(€ 10
(D)2
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107 The product of the place values of 6 in
438269160 divided by 1000 i -
(A) 36

un.ttmmzﬁolmﬁﬁtmwﬁimm
1000 @ farrfrm wey qr d

(8) 60 i

(C) 3600 (B) 60

(D) 6000 (C) 3600
(D) 6000

108. How many times would the digit 2 be

108. f2 319 1 & 100 7 i et ot st 7 for 3

written if you wrote down all the whole numbers 3 2 mm%ﬁrm?
from 1 to 100? (A) 10

(A) 10 (B) 11

(8) 11 ©) 19

(C) 19 (D) 20

(D) 20

109. HCFof 16 & 73 is —

109. 16 311X 73 &1 WewW TUUEdH &

(A) 16 (A) 16
(8) 1 (B) 1
(C) 73 (©) 73
(D) 1168 (D) 1168
110. Which of the following fraction is the 110. frrferfaa & & F-ar frr gedr w2 2
largest? i 29 :
A)2 ® 30
30 29
(8)2 Bz
27 © 29
29 =
€ i -
29 &
(D) 25

111.(33x3)+(3+3)=?

111.(33x3)+(3+3)="?

(A) 98 (A) 98
(B) 99 (B) 99
(C) 100 (C) 100
il (D) 33
112, foreft sft e 1 ward arg1 UREE BT @ -
112. The largest factor of any number is — A)0 :
::)) (1’ (B) 1
(C) Number itself (C) & gean
(D) Cannot be determined. (D) Foratfea 7 foram s wpa 21

(15)
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113 The number that is 100 less than 10000 Is

(A) Nine thousand

(B) Nine thousand nine hundred

(C) Ten thousand nine hundred

0} Nine thousand nine hundred and ninety.
114. 672 is divisible by -

(A)2&3

(B)3&4

(C)2&6

(D) All of these

115. Which among the following are co-prime
numbers?

(A)9 & 21

(B) 7& 17

(C) 14 &35

(D) 12 & 33

116. Write the missing digit so that the number
573457 is divisible by 11 ?

(A) O

(B) 1

(C) 2

(D) 3

117. Find the value of 2a — 3(b —c) when
a=-5b=2,c=1

(A) =13

(B) =10

(C) 13

(D) 10

118. Subtract 2a — 5b + 4c¢ from —a — 2b +

8c.
(A) a = 3b — 4c
(B) 2a + 3b — 2¢
(C) —3a + 3b + 4c
(D) 3a — 3b + 4c

(16)

_ = —
(13 100009 [ 00 %W A arel ae

(A) Y BT

(B) A #m o 4

() z@ war A 4t
(D) e At i 7

114, 672 favm=a 8 -
(A) 233 H
(B) 33 4F
(C) 23 6H
(D) FEHE

115, Pt i & -4 Ao FEATE 2
(A) 93K 21
(B) 73R 17
(C) 14 3R 35
(D) 123733

116, 573457 3 I §E 31 h forerdt a7 1 & fefore
qaH?

(A)0

(B) 1

(©)2

(D)3

117. 2a — 3(b — ¢) FIAFE@ HTCIR a = -5,
h=2 e =il

(A)—13

(B) —10

(C) 13

(D) 10

118. —a — 2b + 8c#&2a — 5b + 4c =eri |

(A)a—3b—4c
(B) 2a+ 3b - 2c
(C)=3a+3b+4c

(D)3a — 3b + 4c

SET-A/CLASS-VI/2023-24
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fow many multiples does 10 have ?

D) An fl‘f;ﬂl[\

120. What percentage is equivalent to 5 :
(A) 37
(8) 63+
(C) 52 *
(D) None of these

121. What should be subtracted from the
greatest 7 digit number to get 65, 43, 210 ?
(A) 12, 34, 567
(B) 99, 99, 999
(C) 12, 34, 560
(D) 34, 56, 789

122. The product of a fractional number and its
multiplicative inverse is —

(A)O

(B) 1

(C) Fraction itself

(D) None of these

123.217+398 +783-308+7="?
(A) 1195
(B) 1097
(C) 1083
(D) 997

124, 480 books are to be packed into boxes. If
one box has 24 books, how many boxes are
needed ?

(A) 80

(B) 40

(C) 60

(D) 20

(17)

119, 10 % firm Trp;!u
(A) ]
(B) 2
(C)3
(D) ¥4

120. g%mﬁﬁmﬂﬁmﬁwﬂ?

(A) 37+
2
1
(B) 635
(C) 52
(D) 379 4 %% Tef

121. 65,43, 210 318 1 ¥ foru 7 3i=1 41 ga@ 9t g
¥ § T SR AT =R

(A) 12, 34, 567

(B) 99, 99, 999

(C) 12, 34, 560

(D) 34, 56, 789

122. Tk Fr=iresreh e 37T Seeh 1o it 3
O & -

(A)O

(B) I

(C) = o=

(D) T & 1S 7

123.217+398+783-308 + 7= ?
(A) 1195
(B) 1097
(C) 1083
(D) 997

124. 480 Torarat =1 a=di § 45 foran s 2| 4fe v st

% 24 fepaal &, At foret s 1 srravahan €nft 2
(A) 80
(B) 40
(C) 60
(D) 20
SET-A/CLASS-VI/2023-24
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125 The greatest common factor of 12 & 24 is -
(A) 6
(8) 12
(C) 24
(D) 1

126. The smallest prime number is —
(A) 1
(8) 2
(C) 3
(D) 4

127. A train leaves town P at 12:05 PM. At what
time will it reach town Q, if the journey takes 1
hour and 42 minutes ?

(A) 1:37 PM

(B) 1:47 PM

(C) 3:37 PM

(D) 3:47 PM

128. The sum of all angles of a quadrilateral is —
(A) 360°
(B) 180°
(C) 90°
(D) 120°

129. In AABC, £A=30°, £B=60°, then the
triangle is-

(A) Acute angled triangle

(B) Isosceles triangle

(C) Right angled triangle

(D) Equilateral triangle

130. Which one of the triangle can be
constructed ?

(A) 60°, 50°, 80°

(B) 70°, 30°, 60°

(C) 59°, 41°, 90°

(D) 65°, 35°, 80°

125. umzmwmﬁ"
(A) 6
(B) 12
(C) 24
(D) |

126, G B STATA T -
(A) 1
(B) 2
(€)3
(D)4

127. U 39 3T 12:05 a1 IEL P g faerd 2 | a1 8T
Q forr v et af e & 1 e o 42 foe & 2
(A) BET 1:37 T
(B) 29T 1:47
(C) AMET 3:37 &
(D) 9% 3:47 7

128. St o Eft 0 3BT A1 2 @
(A) 360°
(B) 180°
(C) 90°
(D) 120°

129. AABC #, £A=30°, £B=60°, Tt frym & -
(A) ZR
(B) \fgag Fist
(C) T Bt
(D) g gt

130. fow=1 5 & o1 Pyt e o ekt 22
(A) 60°, 50°, 80°
(B) 70°, 30°, 60°
(C) 59°, 41°, 90°
(D) 65°, 35°, 80°
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131 What is the least common multiple of the
numbers 90, 60, 75 & 35 ?

(B) 6300

C)4°50

{'l\'l 2750

132. What is the sum of the reciprocals of 7 & % 7
(A) =
9
(B) -
64
€%
64
(D) =

133. If we divide the sum of 45 & 90 by their
difference, the answer is —

(A) Neither prime nor composite

(B) The least prime number

(C) The least odd prime number

(D) The least composite number

134, Anju scored 39 marks out of 60 in Maths
test. What percent is this ?

(A) 75%

(B) 35%

(C) 60%

(D) 65%

135. HCF of 90, 96 & 10 is -
(A) 2
(B) 6
(C) 10
(D)1

136. A square board has a perimeter of 360 cm.
How much is its area ?

(A) 90 cm’

(B) 180 cm’

(C) 8100 cm’

(D) None of these

131,90, 60, 75 ¥ 35 VAL 1 AT G A 30
(A) 2700

(13) 6300
(C') 4250
(D) 2750

132.7 afrz%%ag'cﬁnaﬂa‘rrrw@m
A)—
()64
Bi
(B) &4
o
©

p) &
(D)~

133. 7% 79 45 31 90 o F17T FT I AT H 4T & A1 I
Frm -

(A) 7 1 37T HEAT 3R A A1 §F WA

(B) Hed BT 31T HE&AT

(C) Tar BT ferwm are we

(D) e DI HIH HEAT

134, 379 3 mfora 1 wfvean 5 60 # & 39 3 9 | 7R
o wiferare @ 2

(A) 75%

(B) 35%

(€) 60%

(D) 65%

135. 90, 96 3R 10 %1 HETH GHTH 2
(A)2
(B) 6
(C) 10
(D) 1

136, e iR aivé o fear 360 St 21 gEH TR
fopen & 2
(A) 90 &HT'
-(B) 180 &
(C) §100 &'
(D) 8 @ #E 7
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137 2 metres 35 centimetres Is same as -
(A) 2.35 m
(B) 2035 m
(C) 20035 m
(D) 0.235 m

138. One is same as 0.1 cm.
(A) millimetre
(B) centimetre
(C) metre
(D) decametre

139. Gauri is practising to participate in an
upcoming marathon. She runs 10 km everyday.
What is the total distance she covered in the
month of January ?

(A) 330 km

(B) 310 km

(C) 320 km

(D) 300 km

140. How many sides does a heptagon have ?
(A) 5
(B) 6
€7
(D) 8

141. From a given point to a given straight line,
how many equal straight lines can be drawn ?
(A) 2
(B) 3
(€) 4
(D) Infinite

142. A triangle has sides that measure 5 cm, 12
cm & 13 cm. Identify type of triangle ?

(A) Equilateral triangle

(B) Isosceles triangle

(C) Obtuse angled triangle

(D) Right angled triangle

117, 2 Hftex 35 itz wwra ¥
(A) 2.35 et
(B) 2.035 Hizt
(C) 2,0035 et
(D) 0.235 et

138, U (.1 STt % s EaT 2 |

(A) faefidier

(B) Gt

(C) #X

(D) ZaTHieT

139, Ty TR Eere M o ¥ forT T T R
7 119 10 Farey dreeft 1 et 35 w1 H 36 e et
EEREIN

(A) 330 feft

(B) 310 fdft

(C) 320 fdt

(D) 300 et

140, BeemTie 3 faet sy 2 & 2
(A)S
(B) 6
©7
(D)8

141, a3 e faig & 2t mé e v w0 foeft s e 4
B Y@ STS 1 el & 9

(A) 2

(B) 3

() 4

(D) 35

142, 0 P o opaird s &eft, 12 @i 3t 13 @t & Byt
F T ] 9E=H ?

(A) g

(B) wofiee Frgs

(C) iferarhr gt

(D) @ Frgs
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143. A dozen has 12 units. How many dozens are
there in 7044 units ?

(A) 587

(B) 857

(C) 590

(D) 586

144. Supplement of three-fifths of a right angle
is=

(A) 26°

(B) 36°

(C) 126°

(D) 154°

145. If 8 men can do a piece of work in 15 days,
then in how many days could 20 men do the
same work ?

(A) 4

(B) 5

e

(D) 8 =

146. Which among the following are twin primes?

(A) 31&37

(B) 7 &11

(€)11&13

(D)3&7 - L
Wi A

i o
¢ 1y

143. % %o 1 12 9Tt 2l & 1 7044 St i Fr
Leck 4

(A) 587

(B) 857

(C) 590

(D) 586

144, RO 3 T 02 T A TR
(A) 26°
(B) 36°
(C) 126°

(D) 154°

145, f% & et o T A 15 fot A R € 20
(A)4
(B) 5
(€6
(D)8

146, Frffan i & 9 & geal sTA HEE R Y

(A) 31337 ) & ol )

(B) 73R 11 upgil . Iu!“IQ}.

(€) 11 ¥R 13 me SemAJR o

(D)3 37 ARG
'Tc'-:‘? ;

{igh
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149. In which of the following the numbers are
arranged in ascending order ?

(A) 57071, 50371, 53071, 57301

(B) 50371, 53071, 57071, 57301

(C) 57301, 53071, 57071, 50371

(D) 50371, 53071, 57301, 57071

150. The predecessor of 1 crore is —
(A) 99,99,999
(B) 10,01,000
(C) 9,99,999
(D) 99,99,99,999

151. To get a quotient of 700 & a remainder 48,
what number should be divided by 100 ?

(A) 748

(B) 70,048

(C) 70,000

(D) 7,048

152. The parts of an angle are

(A) Rays & Lines

(B) Arms & Sides

(C) Protractor & Ruler
(D) Arms & Vertex

153. The distance around a circle is called —
(A) Circumference
(B) Perimeter
(C) Diameter
(D) Radius

154. A line segment
(A) has only one end point.
(B) extends endlessly in only one direction.
(C) has no definite length.
(D) has definite length.

(22)

"0

URN79- .

AOA FAHE?
| a8 1 e FH
149, foeferfiaa

7 7 7 5}30]
; ‘
(B) 50371, 53071, 57071, 3 30

50371
(C) 57301, 53071, 57071, ¥
(D) 50371, 53071, 57301, 5

150, 1 3irg 1 a1 £ -
(A) 99.99,999
(B) 10,01,000
(C) 9,99,999
(D) 99,99,99,999

: 151.=41*T=l=Tvl'700:ﬂ’lef‘sf‘W"‘*SWﬂe{%}'ﬂ%rqﬁmﬁ@CIT

F¥ 100 & Ferfire T & 2
(A) 748
(B) 70,048
(C) 70,000
(D) 7,048
152. 3107 3 |1 R Gl
(A) TRt it war
(B) ST ST ¥SiT
(C) aTer 3R vt
(D) a1 37T fred

153. 9  <IRI  F1 5 FEetrelt 2 -
(A) gftfer
(B) gftmmg
(C) =mH
(D) fr=ar

154. UF t@rEz |
(A)m%aa@a?ﬁwﬁgﬁmtl
(B) & & fem & siadm aedt 2
(C) #1 #1 Fafigm wraré = 21t 3y
(D) #i Ffzrm ward Bt 2

SET-A/CLASS-V1/2023-24
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§, )
135 Of the following cases, construction of

triangle is not possible ?
(A} 7em, 7em, 13 em
(B) 10 ecm, 10 em, 20 em
(C) Sem, 12 ecm, 14 ¢m

(D) 3cm,6em, 7cm

156. The fraction in lowest term for 40% is

(A) E
(8) =
(C)
(D)

v

Now| -

5

157. 25% of 30 kg is —
(A) 7 kg
(B) 8.5 kg
(C) 6.5kg
(D) 7.5 kg

158. A dozen eggs were bought for Rs 18 and

sold at Rs 1.80 each. Find profit or loss ?
(A) Profit Rs 3.60
(B) Loss Rs 3.60
(C) Profit Rs 9.80
(D) Loss Rs 9.80

159. Percentage of loss or profit is always

155 Trterftan faaed 4 @ o fags 1 e dva o
'y

(A) 7 sy, 7 gy, | 3

(B) 10 @i, 10 @, 20 B

(C) 5 aft, 12 @t 14 gy

(D) 3 &, 6 &, 7 @t

156. 40% %1 el Brer =1 & -
3
(A)g
4
(Big

o
© 73

{D)E
5
157. 30 FRuT e 25% 8 -
(A) 7 T
(B) 8.5 fermm
(C) 6.5 Ferm
(D) 7.5 foFmm

158, T 2o 31 18 T & @it T S e 1.80 T H
3 7T T AT EI 1A HO

(A) & 3.60 T

(B) ®Tf 3.60 T

(C) AT 9.80 T

(D) &1 9.80 T

150, TR e F yMT A OET e W
2

calculated on— (A) Fa g
(A) S.P. (B) FI T
(B) C.P. g
(C) 3T eH
(C) Overhead charges '
(D) None of these (D)sﬁ g 7et
160. The smallest composite number is — 160, Tl BN E HEA
(A) 1 (A) 1
(B8) 2 (B) 2
(C) 3 (©)3
(D) 4 (D)4
(23) SET-A/CLASS-VI/2023-24
NSNS T NS REE V S R — e— sl
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161 One litre of petrol cost Rs 82. How many
litres can one buy If he had Rs 500

(A) 6

(B) 7

(C) 8

(D)9

162. A game of football consists of a total playing
time of 90 mins and a break of 15 mins at half
time. A football match begins at 03:25 pPM. At
what time will the match end ?

(A) 05:10 PM

(B) 04:15 Pm

(C) 04:30 PMm

(D) 04:40 PM

163. The cost of one book is Rs 124. Arun buys 21
such books. How much money does he pay for
the books ?

(A) Rs 2604

(B) Rs 1450

(C) Rs 2430

(D) Rs 1900

164. A gardener bought 525 pine trees. He wants
to plant 15 trees in each row. How many rows
can he plant ?

(A) 30

(B) 35

(C) 40

(D) 45

165. The product of two numbers is 10800. If one
number is 90, then what is the other number ?
(A) 108
(B) 320
(C) 910
(D) 120

(24)

3% | et % T
161 s e v o AT g2 57 R |

oCh qFae?
500 syd # @ an fapepn 12t Pk

(A) D
(B)7
(C) &
(D)9
o 1 @ gEF Eal 2
zaien % g e e 90 A
pab ST 31 Af T T A

s g i 15 fare #FH
;Tatomsaﬁ:]laﬁm%ﬁ*ﬁﬂamﬁwm?

(A) 9179 05:10

(B) T 04:15 3

(C) T 04:30 &

(D) T4 04:40 &t

163, T FipaT 5 T 124 T B) S0 T 21 fepamal
i 21 a8 el 3 fora f e 22

(A) %2604

(B) % 1450

(C) %2430

(D) % 1900

164. T et 3 <fte % 525 U Gl 78 TeIF Han F 15
U ST <ITEdT 21 FE Fhat e o e 8 2

(A) 30

(B) 35

(C) 40

(D) 45

165. 31 HEAT 1 RS 10800 # | A 0 HEn 90 2,
il et e e 2

(A) 108

(B) 320

(€) 910

(D) 120

SET-A/CLASS-V1/2023-24
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166. | am a prime number |f YOu subtract 1 f
3 ac rom

me, | will become divisible by 9. Whoam | ?
(A) 29 e
(8) 19
(C) 17

(D) 11

167. Numeral for Eighty crore eighty lakh eighty
oneis-

(A) 8080081

(B) 8008881

(C) 808000081

(D) 808008081

168. What is the amount whose 25% is Rs 75 ?
(A) Rs 240
(B) Rs 18.75
(C) Rs 450
(D) Rs 300

169. The needles of a clock at 03:10 form —
(A) An acute angle
(B) An obtuse angle
(C) A right angle
(D) A reflex angle

170. A polygon is a —
(A) closed shape with any number of straight
sides.
(B) closed shape with curved lines.
(C) open shape with straight sides.
(D) closed shape with both curved and
straight sides.

171. The difference between the predecessor and
the successor of one million is =

(A) 1

(B) 2

(C) 1000000

(D) 1000001

(25)

166, ¥ v spvrea s ¥ | afa qa@ | wea ¥ AE o
Fevraa wy s | 8 e ot wfem 42

(A) 29

(B) 19

(C) 17

(D) 11

167, 3yt Firg e ArE S H AF L -
(A) 8080081
(B) 8008881
(C) 808000081
(D) 808008081

168. FFE URTE 25% 752 2
(A) 240
(B) ¥ 18.75
(C) T450
(D) %300

169. 03:10 31 5t <1 ggart el @
(A) ZAH
(B) Hferes 0T
(C) THHIT
(D) FehmT

170. T SR & -
(A) & BT ST & 1 a3 ST |

(B) T @I § it g 3T |
(C) G St & A it ATl
(D) Het iR a7 SIS & s 3 S |

1?1.@3@%@@:@@@1%@&@%—
(A) 1
(B) 2
(C) 1000000
(D) 1000001

N
SET-A/CLASS-VI/2023-24 .
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174 One trillion has how many reros ?

173. How many diagonals are there in the
following figure -

\\
\\\
Y
\ /
(A) 4
(B) 5
(C) 2
(D) 3

174. The number of lines of symmetry in a picture

of a divider is —
(A) 1
(B) 2
(C) 4
(D)o

175. A dealer sold a chair for Rs 90. He bought it
for Rs 95 and spent Rs 20 on its transportation.

What was his loss in this transaction ?
(A) Rs 25
(B) Rs 15
(C) Rs 10
(D) Rs 5

172, ua fafera o o g #1A B 2

(A) 10
(B) 11
(C) 12
(D) 13

t?}.ﬂ%‘ra‘mﬁaﬁﬁﬁmﬁw%'

(A) 4
(B) 5
(€) 2
(D) 3

(A) 1
(B) 2
€4
(D)0

174 e Tt 3 Ferr i ety YRareh amfufar €1l @ 2

175. U ST 3 U et 90 T F et | IAA 39 95 ¥
4 e 3t 3 aftar T 20 T @ R | 5 e H W

forft i 83 2

(A)®25
(B)E15
(C)F 10
(D)E5

(26)
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pirections - Find out how will the

ke after rotation

(A) 1
(B) 2
(C) 3
(D) 4

E-":{i“l“‘" o)

INTELLIGENCE
Fkwr ; aonr wt fim qaTA % Ay doAt ArRfa (X) F

key hgum{!l look

faanfy

&

(A) 1
(B) 2
(€) 3
(D) 4
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Directions : Select a suitable figure from the Answer

rter ;3 T 1 3 T ST a1 T

Figures that would replace the question mark (?). < woraTe Rg (7) F O A
178.  Problem Figures: Answer Figures: 178. awen o I o
i C N P RN YTL 2] (2]
(A) (B) (C) (D) 1 @ 6B @ (A) (B) (C) (D) (1 2 @ @
(A) 1
() 2 (A) 1
() 3 (8) 2
(D) 4 (3
(D) 4
179.  Problem Figures: Answer Figures: 179, e R P
VN2 BDDIA PRI BDDII
(A) (B) (©) (D) M @ @ 4) (A) (B) (C) (D 1 2 (3 @
(A) 1 (A) 1
(8) 2 (8) 2
(€ 3
(€ 3 ol
(D) 4
Directions : Find out the alternative figure which fadw . ﬂﬁiﬁ%ﬁi Frfa i HifAg forert amafa
contains figure (X) as its part. (X) AT HETHE |
NN NS N\ % aj ﬁ
0 7 I i _
i ' Ny @ ©@ @
(X) Mm @ ©6 @ (X) (
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3 €3
(D) 4 (D) 4
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186 if A is the brother of B, B isthe g ster of (
C is the father of D, How D i< relatedto A ?
(A) Brother
(B) Sister
(C) Nephew

(D) Cannot be determined

187.
of the son of the wife of my husband”. How is
veena related to Kavi ?

(A) Aunt

(B) Sister

(C) Mother
(D) Daughter

188.
is the wife of B. What is the relation of Eto A ?
(A) Niece
(B) Sisterin law
(C) Sister
(D) Daughter

189. Pisthe mother of K ; K is the sister of D; D is
the father of J. How P is related to J ?
(A) Mother
(B) Grandmother
(C) Aunt
(D) Not Known

190.  Arun said, “This girl is the wife of the
grandson of my mother”. How is Arun related to

the girl ?
(A) Brother
(B) Grandfather
(C) Fatherinlaw
(D) Husband

Directions : Select the related word.
191.  Depression : Mood :: Insomnia : ?
(A) Dreams
(B) Night
(C) Thinking
(D) Sleep

v and

Introducing Kavi, Veena said, “She is the sister

A and B are brothers. E is the daughter of F; F

(29)

s A, B w1 v 2 B, c B aEA d; IMC, DF
frven ®1 1, A @ & dafia

(A)vird

(B) a1

(C) weftst

(D) Forurtfia =1#t forarr s wrapern &

|86

187, o e o g T 3 o, A
et 3 3 oy e ) e B @ o T i 27

(A) =Tt

(B) oed

(C) |t

(D) 5
188. A s BE 3 E PR F BRTHRE
FAGFGETE?

(A) welrt

(B) ¥t

(C) s

(D) 5
189. P,Ka"tu‘f%;x,nﬁasﬂ;n,mﬁmmP,J
g e ?

(A) Wt

(B) Tdt

(C) ==t

(D) 3T T&l

190, 3701 o, "g g BHY A & 91t et 2
S7e0T e § e R et B 2
(A) ¥
(B) @Tar

(C) |4t
(D)

fordr ; weifra vreg =1 @A @i |
191, Depression : Mood :: Insomnia : ?
(A) Dreams
(8) Night
(C) Thinking
(D) Sleep
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192 Book Publisher  Film ?
A) Produce
(8) Dvrecto

Writer

MoEaito

Directions : Select the missing number/alphabet,
193. 24, 35,51, 73,102, 7

(A) 139

(8) 151

(€) 131

(D) 149

194. 0,2,?,12,20,30
(A) 4
(B) 6
(C) 8
(D) 10

195. 0,6,2,20,20, 42
(A) 4
(B) 6
() 8
(D) 12

196. 5,9,17,29,45,7?
(A) 60
(B) 70
(C) 65
(D) 75

197. W,A,E,I,M,?
(A) P
(B) Q
(C) R
(D) T

198. Y,W,T,P,?
(A) K
(8) L
(€)1
(D) J

199.  If GOLD is expressed as HOME and SONS is
expressed as TOOT, then CORD be expressed as
(A) TONT
(B) TOOS
(C) DOSE
(D) TUPT

200. |Ifin a certain language, MADRAS is coded as
NBESBT, then how is BOMBAY be coded ?
(A) CPNCBX
(B) CPNCBZ
(C) CPOCBZ
(D) cQocBz

4 o7
192.  Book publisher :: Film

(A) producer
(" Director
(C) Writer
(D) Editor

24,35, 51,73,102, 7
(A) 139
(8) 151
(c) 131
(D) 149
0'2’?'12'20,30
(A) 4
(B) 6
(c) 8
(D) 10
195. 0,6,7,20,20,42
(A) 4
(B) &
(C) 8
(D) 12
196. 5,9,17,29,45,7
(A) 60
(8) 70
(C) 65
(D) 75

197. W,A,E,I,M,?
(A) P
(8) Q
(C)R
Db)T

198. Y,W,T,P,?
(A) K
(B) L
(©) 1
(D) J

193.

194.

199. & GOLD ® HOME 3T SONS & TOOT %

w9 § I fohan oiran €, 9t CORD #1 o w9 & a1
fefr e

(A) TONT (B) TOOS

(C) DOSE (D) TUPT

200. 3 foreft fiferd s §, MADRAS #1 NBESBT
o &9 § Fifed frn a1 2, A1 BOMBAY 31 38
Fifed fan smom o

(A) CPNCBX
(B) CPNCBZ
(C) CPOCBZ
(D) cQocsz
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